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Set |d : 53633_73

08-June-2019 Batch3 D.ELEd Odia

Section 1 - Paperl-English Language

1) Find the most appropriate opposite meaning word:
MORTAL

nera | @chofworld.In

B) Life-giving
C) Fatal
D) Temporary

2) Find the most appropriate opposite meaning word:
EVASIVE

A) Deceptive
B) Intangible
C) Forthright
D) Dissembling

Read the passage and answer the questions that follow:

Marine art or maritime art is any form of figurative art (that
is, painting, drawing, printmaking and sculpture) that
portrays or draws its main inspiration from the sea.
Maritime painting is a genre that depicts ships and the
sea—a genre particularly strong from the 17th to 19th
centuries. In practice the term often covers art showing
shipping on rivers and estuaries, beach scenes and all art
showing boats, without any rigid distinction - for practical
reasons subjects that can be drawn or painted from dry
land in fact feature strongly in the genre. Strictly speaking
"maritime art' should always include some element of
human seafaring, whereas "marine art" would also include
pure seascapes with no human element, though this
distinction may not be observed in practice.Ships and
boats have been included in art from almost the earliest
times, but marine art only began to become a distinct
genre, with specialized artists, towards the end of the
Middle Ages, mostly in the form of the "ship portrait” a type
of work that is still popular and concentrates on depicting
a single vessel. As landscape art emerged during the
Renaissance, what might be called the marine landscape
became a more important element in works, but pure
seascapes were rare until later.Maritime art, especially
marine painting - as a particular genre separate from
landscape — really began with Dutch Golden Age painting
in the 17th century. Marine painting was a major genre
within Dutch Golden Age painting, reflecting the
importance of overseas trade and naval power to the
Dutch Republic, and saw the first career marine artists,
who painted little else. In this, as in much else, specialist
and traditional marine painting has largely continued
Dutch conventions to the present day. With Romantic art,
the sea and the coast were reclaimed from the specialists

by many landscape painters, and works including no
vessels became common for the first time.

3) Marine art became a genre

A) in the 16th century

B) during the Renaissance

C) in the Dutch golden age

D) at the end of the middle ages

4) The art in Seascape includes

A) element of human seafaring
B) only the elements of sea
C) human sailing in the sea

D) single vessel on the backdrop of the horizon

5) Which of the following careers was born in the golden
Dutch period?

A) Marine artist

B) Seascape artist
C) Landscape artist
D) Ship artist

6) Marine art or Maritime is inspired by the

A) sea creature
B) ship
C) sailor

)

D) sea

Techofworld.In

7) What art is depicted in ship portraits?

A) Fagade of the ship

B) A Fleet of ships

C) Crew members of the ship
D) A Single ship

Pagelof21
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8) Select the correct option.
| love living in this city.

A) an
B) a
C) no article

= g Techofworld.In

9) Select the correct form of verb from the given options.
| cricket every Saturday evening.

A) plays

B) played

C) play

D) would play

10) What is the plural form of Moose?

A) Moose's
B) Moosies
C) Moose

D) Mooses



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

Section 2 - Paperl-Education and General Awareness

11) Which part of Indian Constitution details the provisions
related to the Panchayati Raj Institutions?

A) Part XI

B) Part XI A

C) Part X A
)

1 echofworld.In

D

11) QQQIS ARILA 609 Zeaca TBIABAR 29TIRqce
QAHRER YIUIF AEE?

A) 2rg XI
B) zra X1 A
C) 2ra XA
D) zra 1X

12) The Janardan Reddy Committee appointed by CABE
in 1992 was basically formed to look into the educational
progress of

A) women of backward classes

B) men and women of backward classes
C) children of low socio economic status
D) scheduled castes and tribal people

12) 1992 6Q TMRQ FIQI A8 *RGG 6981 @fF guyes
ERURIRE JRIGIE 2g9E AUEH FER QYLIF G107 FUTINRI?

A) ageil el AR

B) agal eda 9@a 9e° Aga!
C) aqimea e gIRQ gl

D) 21211 9.° 2899 QI8

13) To Undertake survey and studies relating to various
aspects of teacher-education and publish the results is the
function of

A) State Board of Teacher Education

B) National Institute of Educational Planning and
Administration

C) Center of Advanced Studies in Education
D) National Council of Teacher Edcuation

13) dRe-GR0 QR QBRI QIWER d6R B RUGAIER
ZISAFE @RI G TRITRYER IR R0 6208 Q QIdy
|

A) 683 6916 AT FoQ 9gERIAR

B) quaein o084 2T Ngeadnin Ia° 98 Iefideads

C) 6Q4% IT 2I6RIRIE 968 A8 1g6ada
)

D) qyrein @eeda AT SR 9geRde

14) Which of the following is an antibiotic?

A) Amoxicillin

B) Acetaminophen
C) Lutein

D) Cetirizine

14) GAIERIQ 6967 IR 2IFNCATR

A) 2169133

B) wdeFieaiecrq

mmTechoﬂNoHdIn

15) In Section Five of New National Policy on Education,
1986, which of the following issues related to elementary
education were specially addressed?

O

o
03?%‘.’3

)
)
)
)

A) Access, Enroliment and Retention
B) Access, Enrollment and Meals

C) Meals, Enrollment and Retention
D) Access, Retention and Meals

15) UIAGIM ARG 26 9geadR, 1986 Q UIRI AIZ6R, R6ALIR
J9 AARG 69Q AAIGER F6IT RIES AR FAARYRI?

A) QEIRNGI, FIRRINS 629 G ARG
B) gaquel, eiRieige 621 3 fin
C) fin, MNP 6221 6 IE

D) gacusl, 2ie€ 6 Gn
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Section 3 - Paperl-Reasoning

Techofworld.In

16) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

All the strengths are threats.

All the weaknesses are threats.
Some opportunities are weaknesses.

Conclusions:

I) Some strengths are weaknesses.
Il) Some threats are opportunities.
Ill) Some threats are weaknesses.

A) Only [ and Ill follows
B) Only I follows

C) Only I and Il follows
D) Only Il and Ill follows

16) FERFIRRT: 6% GRALIRR 718 987 78 Fad F2IARE |
20T FULIRYS (18945 AY 691R AIFAIR 96 9G4 § 1al
QARIBEIER FEIZSI VA0 R 6QHUAIRAN | AN Fadq JLg
1e° 01060 96 G2y, FuIKIRYQI fad fuQ 6299 AIREER
RIEQI GENQ ARFGG| RQEQ ARG OF RIER 2AFANE @QF |
A2y A9 AN 6908 @Kl AQ PR3l 6288 Fae | AF gsala
6208 Q9Ra! |

aad:
) @8 AINEl 6268 IRal
Il) @F QoQ 6208 969ls

Ill) &8 95 6268 QR0

A) 6a9m 192° 111 29908 @93 |

B) caar | agaad «ag |

C) 6ae@ 19e° 11 2GA04 @93 |
)

D) 6aa® 11 9e° Il 49204 @0g |

17) In a certain code language LIVE is written as 129225.
How is PAUSE written in that code language?

A) 16111195
B) 16121295
C) 16121195
D) 16111295

17) 9@ G468 QA6FeR QIRIEa LIVE § 129225 691R 6n%IAIeE
1 692 A6FER AVIEQ PAUSE @ @9F sasiide ?

A) 16111195
B) 16121295
C) 16121195
D) 16111295

18) The present ratio of the ages of David and Elan is
4 : 3 . After 10 years, the ratio of their ages will be 5: 4.
What was David's age (in years) 10 years ago?

A) 30
B) 20
C) 50
D) 40

18) 606 Y9° FAIGT QEFINR 0Q AgAIL 4:3 | 10 98 961

6QAIPFA YV QAT 629 5:4 | 696ER AA( 2F6a 10 (9
Q6% 6960 Rl ?

A) 30

»» | echofworld.In

C) 50
D) 40
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19) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

All eagles are birds.
No bird is dragon.

Conclusions:
1) No eagle is dragon.
II) All birds are eagles.

A) None of the conclusions follow
B) Both I and Il follow

C) Only Il follows

D) Only | follows

19) F6RIaRT: 6 FUIAIRYR NS A8q 78 Ad GRS |
2I6g TR A2e4q A 69IR AIRSIR dFe 956 § Yal
QARIFGER KGR SAOIQ &R CQFAIRAN | AL Fadq 9L
49° 0I96a G9E fag, FRIKIReRl G9d AU 6RRG! ARIGEIER
26129 SeNQ 2AFIRR| 9EQl F8QYg O] €I6e 2gdAad @9f |
FIRQY: Ag 9814 62084 91 | 6T19T A81 QIGR GL8 |

aad:
1) 61613 REIS QIOR G4 |

II) Ag 081 GFR 8816 |

A) 63163 § Fad @ 29A04 Qag AIF
B) e@@. | 1e° Il agQed @9g

C) 6aaw Il 2904 @9g

D) eqan | 29904 @08

20) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

Techofworld.In

4, if the question can't be answered at all.

A. B, C, D and E are sitting in a circular seating
arrangement. A is between C and D. Who among them
is in between A and E?

Statement | : E is sitting on to the immediate right of C.
Statement Il : A is sitting next to D.

A) 4
B) 3
C)2
D) 1

20) F624IRR1: FIRYS Tq6R
1096 @08 U4 6R9% F18QY | ALY 949 2@ SULIRAIGE
[

2 596 @09, U7 629 (1894 || d26QITER J4e Q819 GaIIR
Qg |

3, 9% QR | 99° || A26KIGER 946 Q8 SIYIR AIQE |

4, A7 949 999 6969 @ SRR A0S QIF |

A. B, C, D 49%e° E 60RRQ @l @dg8 | C 9e° D Adea A
Q@g |

A @° E 911160 6Q€IF1I60 288 ?
a8 | : C QIR gIdg RIF @GF E |
F8QY Il . D QIsea A Q48|

»+ Techofworld.In

B) 3
C)2
D) 1
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Section 4 - Paperl-Teaching Aptitude

Techofworld.In

21) In which of the following methods, specially designed
software applications are used to learn a subject?

B) Keeping up to teachers' expectations will lead to

failures
. ‘ C) Demonstrating teachers' positive expectations of
A) Mechanical Learning student success motivates students
B) Computer Aided Leamning D) It ensures cooperation, and builds productive student-
C) Design Learning teacher relationships
D) Software Focused Learning

23) SQRAIES 2IGIGER 9@ JA°ATR REAFURIET 621QAI" |

21) QAR 6R4 A8G6R, 641G §99 JgRl AR F68T QIR FARIQ 699 ART 1T 08Q FEIRd 621R016Q geL ?

ARG 62IRNYS ALBLIA ZIFERARIER URLIQ QAU

A) 9T 9RFY TRAET I 2 AR 2I°FR LI6S A9 621NN
1948 92 24| SRR

A) cAQIGRIR A

B) dsew 2161g ARIQ 9801 TUes 2igg 690 UM
c

)
B) af4eq 160Q ARe
)
D)

olalalafalaia; C) Goydie aoreel din dgew IRIUEe 26l Qe
ATBAR 6TIRYE AR FoYIEg 6g0% @6a

D) gl Q26Qig ¥e° g9- G494 TRIe QAR alig IRAe a69

22) "Despite the RTE Act of 2009, if someone decides not
to send his/her children to school, the government would 24) When a child leams new concepts which are totally
not interfere.” Who stated this? new for him, the process is called

A) K?Dil SiPa| A) amalgamation

B) AI’J_UN Slngh B) development

C) Rajnath Singh C) assimilation

D) Prakash Javedkar D) accommodation

_ - Y 24) 69606967 G454 @ aIR Agd gal 98 Jea d6d, <@
22) 2009 @ RTE 2709 96a 712, 89 616d 48 Fea dnig andq @d qRIaN ?
dUIREq ¢ A0RQIg Gda Ga8, 6969 AR 2Y6TA FHER '
QI N9l 54 QFeen? A) 9qe
— - B Q
A) ada dam )9
B) 2ige do@ ©) EJ'Qm%‘-l-eCh()fW() rld | N
ﬁ D

C) aaql &g isieg
D) gem gleesa

25) Which of the following options is a non-formal
educational movement with training methods based on

Law and promise, Learning by doing, and Patrol System?
23) '"The teachers' expectations become a self-fulfilling

prophecy". Which of the following statements is NOT the

A) Scouting and Guiding
inference of this statement?

B) Newspapers

)
)
C) Mass Media
A) ltis an expectation about the future that tends to come D) Library System
true partly because it is expected

Join Us-
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25) Q66119 GQF UIQ 600F Y@ Z6IIsIRe J8I §9Q QIR
GIRel IRE 2IRG 99 9EgE, 9R9! FIal 89l 9e° F1ad QUedl
2RIRG?

A) qiaG° 1e° AIRE°
B) aqeag

C) g& ae TeChOfWOI'|d|n
D) aioie Queg

26) During vedic period, students studied close to their
teachers in their school called

A) homestay

B) gurukuls

C) hostels
)

D) universities

26) 654Q go6a BTG 62710 JFaw QE0 FT¢ @16
AR QR SR REl QRIAIG ?

A) qieqy

B) qgqn

C) gigieid
D) G43uina

27) Under whose chairmanship was the University
Education Commission (1948-49) set up in India?

A) Dr. B. R. Ambedkar

B) Dr. Sarvepalli Radhakrishnan
C) Dr. Zakir Hussain

D) Dr. Rajendra Prasad

27) QQGER TR d9 SR (1948-49) Q12| AUVVIER
fIde 62IRamI?

A) @. 3R 216920a
B) ¢. adam1 qrIIGee
C) ¢. eIRq g6aq

)

D) ¢. qlsag gaIe

Join Us-

28) If a learner fails to pay attention to a teacher in a
classroom the teacher should

A) suspend the student from attending his classes for a
week

B) offer resignation because he is not able to get the
attention of his students

C) give him a chocolate and continue with his teaching
so that others are not disturbed

D) diagnose the reasons and provide remedial teaching
along with some extra guidance

28) 96 968 43181 65417360 R68 TGS A0 9F 799 @
QE8, Jae @8 989 AFQ ?

A) 641 692 21T 9912 TN TR FeG

B) G¢ a1gaies I 2I9dd @AQI6a A7 62092QIg Qe
caa @2l

C) eI 665 9R6RS 690 5% TI0TG! FIR Qg FaRIQ AT
TREQ 2R QI2NQ AT 62991

D) qiod 995 @9 6 2638 e ATe gEaIa Aae IS
6RIGIRG

29) As per the University Grants Commission Act, 1956,

the Commission shall consist of a Chairman, a Vice-
Chairman and

A) Nine other members
B) Eight other members
C) Ten other members
D) Eleven other members

29) QYIRS AGR RFER LIRKR, ° ¢ 8 AFGAA FFSIE F6&
g, F66 QY 99° QI2IR 650 900 6291 AFY

A) a4 Q¥ 98 A
B) &gy 210 @4 aeqy
C) 2a4 Q8 99 Q@Qy
D) 2104 90lIq 9 9@y

Techofworld.In
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30) 'Give lower-achieving and high-achieving students
equal attention and structure learning activities to ensure
their success'. Which of the following CANNOT be inferred
from the given statement on classroom management

strategy?

A) Top rank is ensured for all students in a classroom
B) Equal attention is needed by all students of a class

C) There are lower-achieving and higher-achieving
students in the same classroom

D) Learning activities need to be structured as per need
of the students
[echofworld.In

30) @9 2 9Q° 2@ A QYR MIANRG ANIR UL FaAg
NQ° 6Q9IRE ATRG AR JQIRQI 69R1g F0R |eg | AR
694152 JAVIRGAI 6Q1ER FTAR 690 BT FRING 62RARR
QE?

A) 601G 68619860 AL FNdIT AR QF AT ARG
QAUAN

B) 4@ 6841160 AN FR4Ie1E QAR UIF 623 QR

C) 6015 64619260 Q@A @6 AT 9Q° YR AT QYS!
QQuIgIIES 21218

D) Qaudiqae 21Qa4aal 2IgA6a 99IRIQ 6301 2R 629
QAR

JoinUs-' > f
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Section 5 - Paperll-Odia Language
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31) FIRYS FRIQ 6966 621G 69 ATIALIST 60 §B ? 36) 699 @ol 99 F6a8Y QI F6aTE dag AIQ K6 G0
62IREIN , QIDIG QRN ?

A) @a1-§aQ

B) ci@a-a189 A) aaidel ol
C) oge-00% B) aga Gau
D) eiaa-fda C) qie1 21 Gau

D) sgegicie @al

32) 90 QdQ 694 QR 99 A°YS 90 QAN ?
37) ‘RAIC 6RSE QRGQ 28 @'€ ?

A) 6,9

B) 46 A) Quely 6Rs
C)a.a B) @aie 69!
D) a.@ C) aiga @&

D) waige!

33) GRS FRIQ 606 AULATT ATHG AR LS §I FIF ?
38) AURYS AR 6795 ‘CUIHRT d0q ATHARIST 99 Q6L ?

A) &G

B) ag A) o8t
C) @a B) asaea
D) g& C) Qudan

D) aea

34) 4oy’ @ SAQ1e a9 IorRI?
39) ' 6mggal ' - 9T G2l A9Q 6gediga QA 94 629 ?

A) a5

B) zisoay A) 6pdIR2Q!
C) 2690 B) emgaQl
D) G@ael C) emg<l

nee Tachofworld.In

35) ‘62l AIQQ '62QI §4 | IT ' 621 AIPQ A°Y I FIRYE

AQ 6096 ? 40) ‘4 GgaId’ @ada 28 @4 ?
A) 62 A) 25 qa

B) g B) qeq Ggaid

C) g C) aryel

D) @i D) Qericel

Join Us-
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41)

'qoiR ' < adis Quee edg QRIAN? §5Y AR g
dea?

A) 69 Q¢ QuEie

B) 2agly a4 Qyae

C) oInQy a4l Quae

D) qdl quee TeChOfWOI’ldln

42) ‘6QIRIST — M0I6R 69Q §0@ §2 QU9TI QAUUIRE ?

A) 9
B) @1
C) gotal
D) gac

43) FORAGE AUQ 690G ‘AR’ 49Q AAUIARIF! IR 964 ?

A) aqgl
B) aieral
C) aia
D) qiag]

44) QIFIQIE AIFER 671 JRdl @8 FARIR iR FCER A
ETAEM | 6QGIRS G680 @ gRIQ Jgl 98 ?

A) aigie 6 Gade
B) aqupda

C) §o8

D) Qaaiclde

Techofworld.ln

45) gR+6=?

A) gae
B) ga@
C) ag
D) ag

Join Us-
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Section 6 - Paperll-Mathematics

46)

J (0.05)24+(0.31)2+(0.075)2
The value of N (0-005)2+(0.031)2+(0.0075)7 ig

A) 100.11
B) 10
C) 101

mio 1 echofworld.In

46)

(0.05)+(0.31)*+(0.075)*
(0.005)7+(0.031)+(0.0075)* o e cons

A) 10011
B) 10
C)101
D) 100

47)

z

In the given figure, OW =15 cm, XW = 16 cm and OY =8
cm. Find OZ

aae Techofworld.In
C)30cm
D) 40 cm

47)

z
FaIgIegel §e6a OW = 15 628, XW = 16 628 6 OY =8
6471 6069 07 QLI K9G |

A) 25 6Qdi

)
B) 50 saf
C) 30 6@
D) 40 6

48) Kiran has 30 books, 18 of which are written by author
A and 12 of which are written by author B. Raghav has 20
books of the same two authors. If the ratio of the books
written by author A to books written by author B is same
for both Kiran and Raghav, then how many more books of
author B does Kiran have than Raghav?

>

288 E
N bW

=]

48) 38 AIMEQ 306 @F 218, 64 AuQ 186 emaia A 9Q° 12G
6RSIQ B gIol Mg QIReaa AR 9n 6nsieaa 203 @F 2181
99 QeQ 94 Ie° QARG AIGER AR A ¥Q° 6RER BE F1al
AYS QF QAR AGAIER AT 6069 @adl AIHER AL FRFIER
MY BT 910l YO 6960 ¢8 9F 2RIS 2F ?

O o >

) 3
)5
) 4
)2
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49) Two or more points which lie on the same line and in

the same plane are called

A) Intersection points
B) Collinear points
C) Non-Collinear points

Pueneens Tachofworld.In

49) @ &¢]l 2@ §9 AIRIR ¥ QG 6ad QUEQ 6 U@ QAR
ge6a 86 ad, eIRIg QeI

A) ziadien ag

B) areagio @g

C) anicadl 9@ 3
D) fide @Q

50) If A, B and C are the three sets, then AU(BNC) is equal
to

A)
B)
C)
D)

ANB)UANC)
AUB)N(AUC)
AUB)U(AUC)
ANB)NANC)

o

50) 9@ A, B 6 C 62982 96l 699, 6069 AU(BNC) 9l

A) (ANB)UANC)
B)(AUB)N(AUC)
C)(AUB)U(AUC)
D) (ANB)NANC)

51) IfA={1,2,3,6) and B = {2,4,6,9}, then ANB is

A) {1,3}
B) {2,6}
C) {4,9}
D) {1,2,3,4,6,9}

51) Q@ A={1236}8B={2469} 66629 ANB 6228

A) (1,3}

B) (2.6}
C) (4,9}
D) (1,2,34,6,9}

52) In a mixture of 360 litres, the ratio of spirit and water

is 2 :1. If this ratio is to be 1 : 2, then the quantity (in litres)
of water to be further added is

A) 240
B) 360
C) 300
D) 160

52) 360 RT9R Y@ 1546Q 90Q 9e° fea aAgaIe 2: 1 | 98

9@ 2919 1 : 2 62919 §49 696 481 dQIq 2l QIdiq a8
6208 (RERER)

A) 240
B) 360
C) 300
D) 160

53) In an examination of two subjects Mathematics and
English, 35% of total students failed in English, 45% failed
in Mathematics and 20% failed in both the subjects. The
percentage of those who passed in both the subjects is

A) 60%
B) 50%
C) 30%

nox | echofworld.In

53) GIEIE Me° R°QIF1 QAT TIAER IR UQIFIER UKL BIgE
AlaQ 35% RAUFER 6TR C6M UL° 45% GEER 6T 626m

98° 20% Q@A FTAER 6TR 626R| 6TRFIER R0 FBAER TIq
POET 6AVINTR JOID 6208

A) 60%
B) 50%
C) 30%
D) 40%
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54) The smallest number which when increased by 7, the
resultant number is divisible by 12, 16, 18, 21 and 28.
What is the smallest number?

A) 1015
B) 1001
C) 994

mwzt | echofworld.In

54) S99 Q@Y QI 7 9F dInem AggQl Qe 12, 16, 18, 21
4g° 28 FIQ1 SRS 94 | 9T Fen Qo9 @'§?

A) 1015
B) 1001
C) 994

D) 1021

55) If by selling 33 mangoes, one gains the selling price
of 11 mangoes, then the gain percent is

A) 50%
B) 20%
C) 30%
D) 10%

55) 4@ 33G 2ig 95 «9e! FIol 966l 11§ 2kl 8G gmy i,
6069 RIRNA YTEIC 6908

A) 50%
B) 20%
C) 30%
D) 10%

56) If (2/3)a = 54, then the value of 'a' equals to

A) 81
B) 18
€7l
D) 90

L T T

56) 9@ (2/3)a = 54, 656€ 'a’ @ A AR

A) 81
B) 18
C)72
D) 90

57) What is the area of a parallelogram, whose base is 45
cm and height is 250 cm?

A) 12250 cm?
B) 11500 cm?
C) 11550 cm?
D) 11250 cm?

57) 45 6Q8 2R 8 250 626 @E31 291 ARG 6ATR
69697

A) 12250 @4l 6Qf
B) 11500 @4l 6a
C) 11550 Q¢ 62
D) 11250 Q¢ 66

58) The area and perimeter of a square with diagonal of
200 meters are respectively

A) 40000 m2 and 200 m

B) 10000 m? and 100v2 m
C) 40000 m2 and 400V2 m
D) 20000 m2 and 400v2 m

58) 900 FigQ Qe 29I Y@ QTEAGA 6TFTR IQ° AINGT 6208

™ Techofworld.In

A) 40000 @4 dga 9e° 200 fga

B) 10000 94 figa 9e° 100V2 fga
C) 40000 @4l figa 9e° 400v2 figq
D) 20000 @4l figa 9e° 400V2 §figq
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59) If m? = 11m + 18=0, then the values of m are

A) 3.6
B) 2,7

025 |1 echofworld.In

D) 3,9
59) 4@ m?-11m + 18=0, 6669 M Q NG 6248

A) 3,6
B) 27
C)29
D) 39

60) Three numbers are in the ratio of 2 : 3 : 5 and their
L.C.M. is 1800. Their H.C.F. is

A) 120
B) 30
C) 60
D) 180

60) G6216 QMY 2gAe 2 : 3 : 5 9Q° 67T m.41.g. 1800 |
6QFIRER 61.AILRT g,
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Section 7 - Paperll-Social Science

61) Where did Tebhaga movement take place by kisan

L 63) FORYe QRYEe TUQ 604 0aF 2[Ird AR A0K 218
sabhat gels agh ?

A) Karnataka ~ .

B) Delhi A) 699 671Q FR06R AR AY ATRIS 6TRAN

C) Hyderabad Te Ch OfWO I’| d . I n B) Gge 699 671 219q AVFIQ AF] 96 96 QIR

D) Bengal

C) qge1 QA Ag AIFER 2ALER AE QAR el

D) 899 694IQ 609 2Ieq 2R aif] 96 2F gieed
61) FUIR AV FIR 65RUT ZCRIFS 6306 2AFFE 6TIRYRI?

A) adiee 64) Which of the following constitutional amendments
Acts aimed at strengthening the local self government?
B) a1
C) alegieia A) 71stand 72nd
B) 74th and 75th
D) qat

C) 72nd and 73rd
D) 73rd and 74th

62) WhO among the fO||0WIng |S the fourteenth PI’eSIdent 64) ﬁsgj@gll@;? QQJ@ 6@@“ g’ﬁd‘q A6ARIE 2 QN Ig°
of India? :

4190q 9¢ @8R AIR ARY?
A) Mr. Narendra Modi

B) Mr. Pranab Mukherjee
C) Mr. A.P.J. Abdul kalam
D) Mr. Ramnath Kovind

A) 90641 96° 99661
B) 95651 48° 9864
C) 9967 498° 9964

D) 9mea &° 9¥64
62) F67IRFAIAT AUQ @4 VINGR 9GRS QILAE?

65) The Buxa Tiger Reserve located at the north-eastern

A) g198 9668 67121 2%3 ]%;1 Vgﬁztfgengal bordering Bhutan and Assam was
B) 9199 ge< qdist .

C) 198 1.9.6%. 299w aniK g‘; 225 rr:::::g

D) g1ge Quafiel 6a18% y

C) Iron ore mining
D) Dolomite mining

63) Which among the followmg statements is CORRECT 65) gé‘iﬂ QA QRS qé [lalaa) gQl, @eIg @ 2ICIE A9 FRTER
about the latitudes?

2Ql 9F QIE QTG , IRel 24 AR 9T R ?
A) The length of the latitude is maximum near the arctic
circle

- rese  Techofworld.In
B) The length of the latitude increases from the equator B) sniog &d
towards the poles
C) The length of the latitudes are same at every place of C) gal aze &d
the earth D) col6miclIag @&
D) The length of the latitude decreases from the equator

towards the poles

Page150f21
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66) Which of the following options was an exclusive 68) FARNYS FIQ 606G AF0IQ JaF 63@@ IO YR 6ANYER
Women's regiment of the Indian National Army?

RILIIFQ VTR AFIM ey.m?
v [@chofworld.ln -, ..
B) Rudramma 2
C) Rani of Jhansi B) zoe 6@
D) Ahilyabai C) air 6e%
D) aga 692

66) FIRYS FRIQ 6266 ATAIR AR 2E (INA) @ G648
(@R 6deY @F gmI?

69) Which of the following are the guidelines, which give

_ more focus on development and welfare of Nation in
A) a@ail social, political and economic aspects?
B) gl
29 A) Directive Principles
C) araiq oM B) Fundamental Duties
D) ziequicK

C) Fundamental Principles
D) Fundamental Rights

67) Which of the following options is a method of growing
plants in a water based, nutrient rich solution without the 69) G66]I3 F1UQ 69Q FIFRERI JF@ 6966a ALRS, AIRCTER
use of soil?

4e° 218@ G960 RIS 9e° QRIS FAI6S 2Q IR 69RAN?
A) Hydrotherapy

B) Hydrotropism
C) Hydrodynamics
D) Hydroponics

A) Geadie 918
B) ¢l@a aaey
C) edle dale

D) 6cllda 2qia
67) 3AGe FUQERNYTAER AITELIR QI6R 8 618K FR1
FCER 918 MGl 62N ?

70) At what angle do the meridians intersect the equator?
A) 2162l 6201

A) 90°
B) ciqeel gdee B) 66.5°
C) elpecgieaifia g; 33.5'*
D) einegleaag

Techofworld.In

70) 6960 @1 6216I6R FJLR 603 §YQ 6Q3IG 682 @GN ?
68) Which of the following options is the earliest vedic text
that contains hymns of God?

A) 90 @qt
A) Rig Veda B) 66.5 @91
B) Atharva Veda C) 225 &g
C) Sama Veda N
D) Yajur Veda D)0 &gt
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71) Which of the following statements is the CORRECT
explanation for Isotherm?

A) Isotherm are lines joining places having equal
pressure

B) Isotherm are lines joining places having equal salinity
C) Isotherm are lines joining places having equal height

D) Isotherm are lines joining places having equal
temperature

Techofworld.In

71) fORGC QRGP g 676 @BF AsQIRI Aeea A0 28
gals @98 ?

A) QAIR 910 91 AINg 6AIIRRES 6aSIg REQIRF GRIPN

B)anie @Qaol  gQel  9eq  6QIIRQAS  6qdg
@6QiRe eI

C) arie 996! 49! AI9g 6QIIRQEQ! 60¢Iq QEdIF RIFN

D)aaie QaIgl g9 Q99 6999929l 6adlg
@sQlRe qaIgIg

72) Which of the following options is the largest nonpolar
desert in the world?

A) Atacama desert
B) Gobi desert

C) Sahara desert
D) Thar desert

72) FARYS FRIQ 6RW5 QRRIR AF0IR 98 K] 6N TRRS
2657

A) ERIRIAI QRA
B) cae aigd
C) aigiql aged
D) 2iq Ag@

73) Who among the following did Ashoka appoint as
officials to spread the message of Dhamma?

A) Dhamma Mahapatis

B) Dhamma Mahamatras
C) Dhamma Mahadhammas
D) Dhamma Dhammanis

73) YR Q604 JAIQ @AGI I 264IR F6CIB Al AR ARG
2RIAN DIREE Y SRLER?

A) ¥R ARIKIGAIGG
B) g agrigrieg
C) ug ARRIACIng
D) am aniGaieg

74) Which of the following dominant gases are found in
upper Thermosphere?

A) Argon

B) Atomic hydrogen
C) Atomic oxygen
D) Carbon dioxide

74) G6RI8 TR 68960 RO0Q 26FRFARER ¢ AUV AR
fiera?

A) aige

)

B) aoniide aqeie

C) aore@e 2Rl
)

D) Q6% pleeigiee

75) Who among the following described that the "Indian
Constitution is first and foremost a social document"'?

A) Abraham Ville
B)
C) HamVille
D)

Granville Austin

Graham Ville

75) F6ARAIGE FUIQ T4 “RIGS1A RIS LEA 9Q° ATI6Y IR
AAIFR Q2T 691 ade adeen?

A) ZIg12¢1 @6R

B) gigtiem a8q
C

)
)
) 219 Gem
)

D) gizs &6m

Techofworld.In
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Section 8 - Paperll-Science

76) Which among the following options is the first stage of 78) 1 fea 654 85 9@ 499 60gaeEa 10097 9ge F4e
karyokinesis process of a typical eukaryotic cell?

60¢ 9FF1 Y2 A7 INER 9 60° 6718 699 YGIT 6TGF 1e°

A) Metaphase 2| 960 620IQ GG /AR RPT| 6UEPERER T 60g FIES 69a
B) Prophase 2TG¢ FQE 6AEOERER 12IA K E. 6298
oreemse 1 €CHOfWOrld.IN
D) Anaphase A) 147
B)1.0J
s o s . C)os51J
76) QorkQ 6ae FREd Y9 AR gRIAete 6RIEq
QIEBE6da gaaia gan adua? D)025)
A) 6a0ETe 79) A drop of liquid of diameter 2.8 mm breaks up into 125
identical drops. The change in energy is nearly (S = 75
B) sgkae dyne/cm)
C) egeniera
A) Oerg
D) aigisas

B) 74 erg

)

)

C) 100 erg
77) If the clothes of a person cafches fire, he is D) 19 erg
immediately wrapped in a thick blanket. The blanket cut off

the supply of which of the following gases? . — = - =

79) 2.8 €11 QUIQ Q@98 @ GaR @ 1256 eI QQ6Q @Efidinl

A) Carbon dioxide 436Q 912 QGeeR 6298 (S = 75 GleR/6ad)

B) Oxygen
C) Nitrogen A) Oerg
D) Hydrogen

)

B) 74 erg
)
)

~ - Y C) 100 erg

77) 99 @68 QI9F 6dIRIR6q @8l MICIKN, Gl A6EACE’ 9@

6ElITI RIF6Q 6AIRIA FRIAN | 9 @R FIAl 676 GYIdq D) 19 erg

2IeRNAN?
80) Which of the following pairs does NOT form a
symbiotic association?

A) ageaie]

B) agaia A) Anabaena - Azolla

C) gesiagia B) Rhizopium - Alfalfa

b C) Frankia - Alnus

) easie D) Azotobacter- Mycorrhiza

78) A simple pendulum of length 1 m has a bob of mass

RS : 80) FEFug 696 64IQ1 IS ALY AW G0 K68 FIT?
100 g. It is diplayed through an angle 60° from the vertical

and then released. The KE. of bob when it passes
through the mean position is

A) ZIRI8F! - 26T
B) QuasxI@eie - aImcimet
A) 1.4 el
B)1.0J C) giEe-amed
C)0.5J D) 216218 Qa-C1e6R1ae
D) 0.25 J

Techofworld.In
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81) Which among the following options is NOT a
component of plasma membrane of a cell?

A) Carbohydrates
B) Lipids

C) Vitamins

D) Proteins

81) SFAUQ 676 FAR IR 62198 KA TR IQ RAQIF §6L?

A) QIEIITIREET
B) adg

C) Gedia

D) sgi@a

82) The fungus Aspergillus Niger is a type of mould
producing which one of the following acids?

A) Butyric Acid

B) Citric Acid

C) Carboxylic Acid

D) Oxalic Acid

82) AIATND PRGN AR 6298 9K JRIeQ TF Q1D FarrQ
6@ 25 S2Id @farg?

A) Q45aa 21g]
B) aaga ag,
C) qleaIgha 21,
D) aqela &6

83) Diseases like Polio and Chicken pox are usually

caused by which of the following groups of
microorganisms?

A) Virus
B) Bacteria
C) Fungi
D) Protozoa

Techofworld.In

83) GarQ 6a6 RIS 69191 6aI5 ARG, YT OF Al
6QIRRIN?

A) aiged
B) cuisqRal
[l

O

)
)
)
D) egiecisaial

84) Select the non-conservational force among the
following.

A) Frictional force

B) Gravitational force
)
)

C) Electrostatic force between two charges
D) Spring force

84) G60I@ Q1IQ 2E-A° VG IR OF AL *AG |

A) Qg af

B) ariads o

C) 9o oId F1u6a §a6dquoa af
D) @& ao

85) A block of mass 2 kg is resting on a smooth surface.
At what angle a force of 10 N will be acting on the block
so that it will acquire a kinetic energy of 10 J after moving

o« Techofworld.In

85) 2 606 9g@ S8 9@ 99Id 6915 AFSR Q8 IR T |
42 991K QUER 699 6216 10 NQ U9 @R 9629 RAIGER 1@
2m 9% 90Q1 J6Q 10 J 967 48 2RIa /09
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86) The reactions in which two or more substances
combine to form a single substance are termed as

A) Decomposition reactions

B) Displacement reactions

C) Double displacement reactions
D) Combination reactions

Techofworld.In

86) g QI 2 ald A8 661G aglel 6291 9ETRIg 6a4
goqel @aIare?

A) 2agee 9oaal

B) Galae gGgw

C) 690 Fuiae 959l
D) ereaiae goqal

87) Two capillary tubes of radii 0.4 cm and 0.8 cm are
dipped in the same liquid. The ratio of heights through
which liquid will rise in the tubes is

87) 0.4 63¢ 9a° 0.8 62f1 QIS I8 9RF 6@5R FR1q AR

09% J9lden 991 GeIERII 9§ eR1ggRsa 00F aid a0
QU0 62Qa

A) 01:.04
B) 02:01
C) 02:03
D) 04:01

88) The arrangement of flowers on the floral axis of a plant
is known as

A) Aestivation
B) Inflorescence
C) Efflorescence
D) Venation

88) Y@ QEQ 6N 2IFUER IR NLYIQ 8 QRIKIN?

A) w8eeae

B) aregieasag
C) w6g6062q
D) emsaas

89) In which types of plants, strong woody stem and deep
anchoring roots are usually NOT necessary?

A) Xerophytes

B) Epiphytes

C) Halophytes

D) Hydrophytes

89) 609 JRIOS ABLER 99 QIO AIS G TRIAG ARSI 650Q
2GRS ARIGESE QEIN?

A) 686QITIRE
B) wdaiee
C) glericiag
D) qieeg e

90) The coefficient of volumetric expansion of mercury is
18 x 10°%°C. The thermometer bulb has volume of 10 m3
and cross section of the stem is 0.002 cm?. Assuming that
bulb is filled with mercury at 0 °C, the increase in the
length of the mercury column at 100 °C will be

A) 9 mm
B) 18 cm
C)9cm

D) 18 mm

90) CIReR 2Iges 2R gélw 18 x 10+/°62d6gR1 A6FkicR
ANER 2IBSE 10° M- 98° 1R 8999 0.002 cm:| 92 eR@sR

dIee 0 °6a86ge6n 90dl RAULIRYS! 928 @em ° 100
6296969 CIOT YAQ ARG 696E 9F 629

Techofworld.In

A) 9 mm
B) 18 cm
C)gcm

D) 18 mm
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Question Paper No: 53633 73
Answer Key
I. B 31.B 61.D
2. € 2.0 62:D
3. € 35.D 63.D
4. B 34. A 64.D
3. A 35.C 65.D
6. D 36.A 66.C Tech
7. D 3.A 61.D
8. C 38. A 68. A
9. C 39.A 69. A
10. C 40. A 70. A
1.0 41. B #1.D
12.D 42.D 72.C
13.D 43. A 73.B
4. A 4. B 74.C
15.A 45.B 75.B
16. D 46.B 76.B
17.C€C 47. C 77.B
18. A 48. C 78.C
19.D 49.B 79. B
20. D 50. B 80.D
2L.B 531. B 31: 6
22. A 52. B 8248
23.8 53.D 334
24.C 54.B 84. A
25. A 55. A 83.C
26. B 56./ANR6E)
2B 570 872 B
28.D 58.D 88.B
20.C9. C 89.D
30..A @U. € 90.C

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

